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Solutions for Class : 2

MATHEMATICS

13. (D)
20

4
5

?

17. (D) 3 × 3 = 9 kg

22.  (D) Option D represents the shaded part 
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8. (C) 9 cm – 3 cm

= 5 cm.

11. (A) Mass 2 packets of French fries = 40 g

mass of 1 packet of french fries = 
40
20

  = 20.

GENERAL SCIENCE

26. (D) Watermelon grow on creepers.

29. (D) Rice, wheat and maize are cereals.

37. (B,D) The given organs are lungs. Lungs are
the parts of respiratory system. It is also
a part of excretory system as it helps
in exchange of gases by taking in
oxygen and giving out carbon dioxide.

29. (A) Coconut is the seed part of the plant.

30. (C) Living things grow.
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